Earth Day Addition Riddle

Solve each addition problem. Find the sum that matches the letter.

Use the code to solve the riddle below:

B 3 A 10 T E 12
I 11 L H U R 14
W 13 N 2 G
Why did the leaf go to the doctor?
2+1 g+4  0+1 6+4  3+6 2+4%  7+5 8+3 1+4
10+3 3+7 6+0 3+4  10+2 9+3 2+2 10+1 1+1 4+

6+3 10+4 5+7 4+8 0+2
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farth Day Addition Riddle Answers

Solve each addition problem. Find the sum that matches the letter

Use the code to solve the riddle below:

B 3 A 10 T E 12
I 11 L 4 U R 14
W 13 N 2 G

Why did the leaf go to the doctor?

B ECAUSE [ T

2+1  8+% 0+1 6+4% 3+6 2+4 7+95 8+3  1+Y4
W A S F E E L I N G
10+3 3+7 6+0 3+4  10+2 9+3 10+ 1 1+ TR

GREEN!

5+3 10+4 5+7




